Rohrschelle

! 6
1 | Kupferrohr 5
1 PE - Platte 4
2 Z - Bleche 3
1 Grundplatte 2
2 | Winkelstah 1]
— —
Stck. Benennung [fd. Nr. I

Bemerkung: Gestellt werden

1 Zyl. Schraube M5
7 Zyl. Schrauben M6
6 U- Scheiben M6

6 Sechskantmutter M 6

S oo™

| {fd. Nr.

Gesamfdarstellung

Malistab = ohne

Zwischenpri, fun§




